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[05-1200 11:37:51.941][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] nSfldx[3],] nCellNum[1]

[05-1200 11:37:51.941][DEBUG]PUSH_API_TO_QUEUE:[push:1,00 pop:0],0 apiArraySfn[6]C numInQueue[1]

[05-1200 11:37:51.941][DEBUG]----00 0_DL_L1 CONFIGO [phy_gnb_bbupool_task_dI_config]C Cellldx[0]C Subframe[3]C SlotAdvldx[5]C Ctx[1]0 timediff[
508.540]us

[05-1200 11:37:51.941][DEBUG]POP_API_FROM_QUEUE:[push:1,0 pop:1],0 apiArraySfn[328000]0 numIinQueue[0]

[05-1200 11:37:51.941][INFOC nr5g_gnb_mac2phy_api_proc_dl_config_req,00 Tx[0,6]0) nGroup[0]0 nPDU[0]0 diff[2943542099.968]us

[05-1200 11:37:51.941][DEBUG]PHY State Tx: (0 nNumPdsch[0]C] nNumPdcch[0]C) nNumPbch[0]C) nCSICount[0]0) nPDUI0]

[05-1200 11:37:51.941][C *ERROR*0 Jphy_gnb_bbupool_task_dl_config,0 Cellldx[0]C Subframe[3]0 SlotAdvldx[5]0 Ctx[1]0 TxFrameNumber[0]O SlotNum[6]
O CurrSlotNum[5]//0 txconfigd D 0 0 0 O060 0005

[05-1200 11:37:51.941][DEBUG]Func:phy_gnb_bbupool_task_ul_config,[0 Cellld[0]C Slot[3]C SlotAdvldx[3]C Ctx[3]C nListRunning[0]

[05-1200 11:37:51.941][C *ERROR*0 JFunc:phy_gnb_bbupool_task_ul_config,00 Cellldx[0]C Subframe[3]0 SlotAdvldx[3]C iCtx[3]0 RxFrameNum[0]O SlotNum[
410 CurrSlotNum[3]0 gMySfn[7]//ulconfigC O O 0 0400003

[05-1200 11:37:51.941][FATAL]phy_bbupool_reset_cell_state,[] Reset[] pBbu->nCurrentSfldx--->>>[-1]

[05-1200 11:37:51.941][ERROR]ANO ambiguousd subframed index™ 400 isO received atCl CurrentSfldx[-1],0 caller[1],00 TimeDiff[4]

[05-1200 11:37:51.941][FATAL]gnb_fh_thread,0 TimeLastUs[629]0 TimeDiff[1]0 Realslot[0]0 TimeOut_Cnt[1]

[05-1200 11:37:51.941][ERROR]Update] SfldxC by CallerFlag[0]:C] CurrentSfldx[-1]0 -->0 Sfldx[0]

[05-1200 11:37:51.941][DEBUG]Func:phy_bbupool_update_multi_cell_status,[] nSfldx[0],00 nCellNum[1]

[05-1200 11:37:51.942][INFOU 1BBU Pooling:(J enter[] multicelldJ Activate!

[05-1200 11:37:51.942][INFOUO ]1BBUO Pooling:0 actived result:0 Q_id =0 0,currenSfO =00 20480,0 curCellNumO =0 1,0 activesfnd =0 4,0 CelINumInActSfn
0o=02

[05-1200 11:37:51.942][INFOL! 1BBUU Pooling:00 multiCell] Activate[] sucessfully!

[05-1200 11:37:51.942][ERROR]ANO ambiguousd subframed index™ 500 isO receivedd atCl CurrentSfldx[0],0 caller[1],0 TimeDiff[4]

[05-1200 11:37:51.942][FATAL]gnb_fh_thread,0 TimeLastUs[628]0 TimeDiff[1]0 Realslot[1]0 TimeOut_Cnt[2]

[05-1200 11:37:51.942][ERROR]Update(] Sfldx(] by CallerFlag[0]:C] CurrentSfldx[0]C1 -->[ Sfldx[1]

#2-2021-05-1218:48 -0 O O
O0logD 00000000 DOdub 030 0 020 slotd O O slotadvO 50 0 O dud O O dlconfigD O O OslotD 60 00000 O

[05-1207 18:15:15.155][DEBUG]Func:phy_bbupool_update_multi_cell_status,(J Sfldx[3],00 CellNum[1]

[05-120 18:15:15.155] [DEBUG][PHY-->DU]0 MSG_TYPE_PHY_SLOT_IND:O CellNum[1],O Slotidx[3],0 TTI[0,3].

[05-1200 18:15:15.155][DEBUG]PUSH_API_TO_QUEUE:[push:1,00 pop:0],0 apiArraySfn[6]0 numinQueue[1]

[05-1200 18:15:15.155][DEBUG]----00 0_DL_L1_CONFIGO [phy_gnb_bbupool_task_dI_config]C Cellldx[0]C Subframe[3]C SlotAdvldx[5]C Ctx[1]0 timediff[
509.420]us

[05-1200 18:15:15.155][DEBUG]POP_API_FROM_QUEUE:[push:1,00 pop:1],0 apiArraySfn[328000]C) numInQueue[0]

[05-1200 18:15:15.155] [INFOD JDU2PHY_Api_Proc_DL_Config_Req,0 Tx[0,6]0 nGroup[0]0 nPDU[0]0 diff[14526085857.280]us

[05-1207 18:15:15.155][DEBUG]PHY StateTx:[0 nNumPdsch[0]C) nNumPdcch[0]0 nNumPbch[0]C nCSICount[0]0 nPDU[0]

[05-1200 18:15:15.155][ERROR]phy_gnb_bbupool_task_dI_config,[] Cellldx[0]0 Subframe[3]C SlotAdvldx[5]0 Ctx[1]C TxFrameNumber[0]0 SlotNum[6]0
CurrSlotNum[5]

[05-1200 18:15:15.155][DEBUG]Func:phy_gnb_bbupool_task_ul_config,[0 Cellld[0]C Slot[3]C SlotAdvidx[3]0 Ctx[3]C nListRunning[0]

[05-1200 18:15:15.155][ERROR]Func:phy_gnb_bbupool_task_ul_config,[] Cellldx[0]C1 Subframe[3]0 SlotAdvldx[3]C iCtx[3]0] RxFrameNum([0]C S
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#3 - 2021-07-19 11:37 - guo hanlin

OYZS_NRP_V20500SRSOOO0O0O0OOOOOOODODOODOOO
"Func:DU2PHY_Api_Proc_Rx, iCtx!, phylnstance’, pRxConfig=NULL"0 0 OO0 0000000

[07-1900 10:49:27.647][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[20477],00 CellNum[1]

[07-1900 10:49:27.647][INFOU 1BBU Pooling:0J enter[] multicelld Activate!

[07-1900 10:49:27.647][INFOU ]1BBUO Pooling:O actived result:0 Q_id =0 0,currenSfO =0 20477, curCellNumO =0 0,0 activesfnd =

01,0 CellNumInActSfnd =0 1

[07-1900 10:49:27.647][INFOL 1BBUO Pooling:0 multiCelld Activate[ sucessfully!

[07-1900 10:49:27.647][INFOU 1BBUO Pooling™ Info:0 bbupoolO rtd threadO startt ond Coreldx™d 40 coreldd 1000 at[] 143047532773620 at[] sf=
204770 with queuel] 001 successfully

[07-1900 10:49:27.647][INFOU 1BBUO Pooling] Info:0J bbupool rt0 thread [ startC) onJ Coreldx( 20 coreld 70 at[] 143047532776380] at[] sf=
204770 withd queue 001 successfully

[07-1900 10:49:27.647][INFOL 1BBU Pooling(l Info:00 bbupool rt thread [ startC] on] Coreldxd 0O coreld 50 at[] 14304753292052(1 at(] sf=
204770 withO) queue 00 successfully

[07-190 10:49:27.647][INFOU 1BBUO Pooling™ Info:0 bbupoolO rtd threadO startt ond Coreldx™ 10 coreldd 60 at(] 143047533071240 at0l sf=
204770 with queuel] 001 successfully

[07-1900 10:49:27.647][INFOU 1BBU Pooling] Info:0J bbupool rt0 thread [ startC) onJ Coreldx( 30 coreldd 90 at[] 14304753322526(] at[] sf=
204770 withd queue 001 successfully

[07-1900 10:49:27.648][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[20478],00 CellNum[1]

[07-1900 10:49:27.648][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[20479],00 CellNum[1]

[07-1900 10:49:27.649][DEBUG]Func:phy_bbupool_update_multi_cell_status,d Sfldx[0],0 CellNum[1]

[07-1900 10:49:27.649][DEBUG]FH_PRACH_RX, Cellldx[0]0 slotldx[20479]01 eCellActive[10]C1 bbuRunningFlag[1]0 gPhyState[1]00 PRACH_ArriveTimeDiff[10
002.575]us

[07-190 10:49:27.649][DEBUG]Func:phy_bbupool_update_multi_cell_status,d Sfldx[1],0 CellNum[1]

[07-1900 10:49:27.649][INFOL Jphy_bbupool_rx_handler:C] Phyld[0]C nSfldx[1]C frame,slot[0,1]C) gNumSlotPerSfn[20]

[07-1900 10:49:27.649][DEBUG][PHY-->DU]O MSG_TYPE_PHY_SLOT_IND:O CellNum[1],O Slotldx[1],00 TTI[0,1].

[07-1900 10:49:27.649][WARNG]DU2PHY _Api_Proc_Tx,0 pstDU2PhyApi->pTxConfig=null,0] rcd =0 FAILUREO

[07-1900 10:49:27.649][ERROR]phy_gnb_bbupool_ul_set_list:(1 Already ScheduledJ gMySfn[5]01 Cellldx[0]C Slotldx[1]0] taskType[0]0) prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.649][ERROR]phy_gnb_bbupool_ul_set_list:(1 Alreadyd Scheduled gMySfn[5]0 Cellldx[0]C Slotldx[1]0 taskType[1]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.649][ERROR]phy_gnb_bbupool_ul_set_list:0] Alreadyd ScheduledT gMySfn[5]0 Cellldx[0]C Slotldx[1]0 taskType[2]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.649][DEBUG]prach_debug1 isClear[0]0] iCtx[1]0 Slotldx[1]C task Type[3]] TaskSched[0]

[07-1900 10:49:27.649][ERROR]phy_gnb_bbupool_ul_set_list:0] Alreadyd ScheduledT gMySfn[5]0 Cellldx[0]C Slotldx[1]0 taskType[3]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.649][ERROR]phy_gnb_bbupool_ul_set_list:(1 Already ScheduledJ gMySfn[5]01 Cellldx[0]C Slotldx[1]0 taskType[4]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.649][DEBUG]phy_fpga_dl_set_remap_buffer,[1 Slotldx[1]C SlotAdvIdx[3]0 bufldx[3]C) oneSymDataSize[13104],00 PktLen[26240]

[07-1900 10:49:27.649][DEBUG]Func:phy_gnb_bbupool_task_ul_config,[0 Cellld[0]C Slot[1]C SlotAdvldx[1]C Ctx[1]0 nListRunning[0]

[07-1900 10:49:27.649][ERROR]"Func:DU2PHY _Api_Proc_Rx,0 iCtx[1],0 phylnstance[0],0 pRxConfig=00 NULL"

[07-1900 10:49:27.649][DEBUG]phy_ul_pusch_symbol_buffer_pre_alloc_func,0 RX[0,0 0],00 PUSCHGrantNum[0],00 CompressPUSCHProcess[0]

[07-1900 10:49:27.649][DEBUG][phy_dI_x86_encode_task_func]:C] Cellldx[0]C Slotldx[1]0 SlotAdvldx[3]C Ctx[3]C) FEC_Deal Time[4.500]us

[07-1900 10:49:27.649][DEBUG]Func:phy_gnb_bbupool_post_task_ul_pusch_de_scramble,[ Cellldx[0]0 Slot[1]0 SlotAdvldx[1]0 iCtx[1]

[07-1900 10:49:27.649][DEBUG]Func:phy_gnb_bbupool_post_task_ul_pusch_decoder,[] Cellldx[0]0 Slot[1]0 SlotAdvldx[1]0 iCtx[1]

[07-1900 10:49:27.649][DEBUG]Func:Reset_ul_buf,C] Cellldx[0]C slot[1]C SlotAdvIdx[1]0 iCtx[1]0 PhyState[1]C) bufldx[4]C) RBNum[273]C oneSymDataSize[131
04]

[07-1900 10:49:27.649][DEBUG]phy_gnb_bbupool_ul_set_list:(1 prach_debug(l isClear[1]0 iCtx[1]0 Slotldx[1]C task Type[3]C TaskSched[0]

[07-1900 10:49:27.650][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[2],00 CellNum[1]

[07-1900 10:49:27.650][DEBUG][PHY-->DU]O MSG_TYPE_PHY_SLOT_IND:O CellNum[1],0 Slotldx[2],00 TTI[0,2].

[07-1900 10:49:27.650][WARNG]DU2PHY _Api_Proc_Tx,0 pstDU2PhyApi->pTxConfig=null,0] rcd =0 FAILUREO

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_ul_set_list:[1 Already Scheduled) gMySfn[6]01 Cellldx[0]C Slotldx[2]0 taskType[0]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_ul_set_list:(1 Alreadyd Scheduled gMySfn[6]00 Cellldx[0]C Slotldx[2]0 taskType[1]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_ul_set_list:0] Alreadyd ScheduledT gMySfn[6]0 Cellldx[0]C Slotldx[2]0 taskType[2]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.650][DEBUG]prach_debug1 isClear[0]0] iCtx[2] 0 Slotldx[2] O task Type[3]) TaskSched[0]

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_ul_set_list:0] Alreadyd ScheduledT gMySfn[6]0 Cellldx[0]C Slotldx[2]0 taskType[3]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_ul_set_list:(1 Already Scheduled) gMySfn[6]01 Cellldx[0]C Slotldx[2]0 taskType[4]0 prevSched[TaskSched(0)
-1]

[07-1900 10:49:27.650][DEBUG]phy_fpga_dl_set_remap_buffer,[] Slotldx[2]C SlotAdvIdx[4]0 bufldx[4]C) oneSymDataSize[13104],00 PktLen[26240]

[07-1900 10:49:27.650][DEBUG]Func:phy_gnb_bbupool_task_ul_config,00 Cellld[0]C Slot[2]C SlotAdvldx[2]C Ctx[2]0 nListRunning[0]

[07-190 10:49:27.650][ERROR]"Func:DU2PHY _Api_Proc_Rx,0 iCtx[2],0 phylnstance[0],00 pRxConfig=00 NULL"O

[07-1900 10:49:27.650][DEBUG]phy_ul_pusch_symbol_buffer_pre_alloc_func,[0 RX[0,0 0],00 PUSCHGrantNum[0],00 CompressPUSCHProcess[0]

[07-1900 10:49:27.650][DEBUG][phy_dI_x86_encode_task_func]:CI Cellldx[0]C Slotldx[2]0 SlotAdvldx[4]0) Ctx[0]C) FEC_Deal Time[4.500]us

[07-1900 10:49:27.650][DEBUG]Func:phy_gnb_bbupool_post_task_ul_pusch_de_scramble,[ Cellldx[0]0 Slot[2]0 SlotAdvldx[2]0 iCtx[2]

[07-1900 10:49:27.650][DEBUG]Func:phy_gnb_bbupool_post_task_ul_pusch_decoder,[] Cellldx[0]0 Slot[2]0 SlotAdvldx[2]0 iCtx[2]

[07-1900 10:49:27.650][DEBUG]Func:Reset_ul_buf,C] Cellldx[0]C slot[2]C SlotAdvidx[2]0 iCtx[2]0 PhyState[1]C) bufldx[5]C) RBNum[273]C oneSymDataSize[131
04]
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[07-1900 10:49:27.650][DEBUG]phy_gnb_bbupool_ul_set_list:(1 prach_debug isClear[1]0 iCtx[2] 0 Slotldx[2]O task Type[3]C TaskSched[0]
[07-1900 10:49:27.650][DEBUG]Func:phy_bbupool_update_multi_cell_status,[] Sfldx[3],00 CellNum[1]

[07-190 10:49:27.650][DEBUG][PHY-->DU]0 MSG_TYPE_PHY_SLOT_IND:O CellNum[1],0 Slotldx[3],00 TTI[0,3].

[07-1900 10:49:27.650][DEBUG]PUSH_API_TO_QUEUE:[push:1,00 pop:0],00 apiArraySfn[6]C numInQueue[1]

[07-1900 10:49:27.650][DEBUG]POP_API_FROM_QUEUE:[push:1,00 pop:1],0 apiArraySfn[328000]C) numInQueue[0]

[07-1900 10:49:27.650][DEBUG]PHY StateTx:[1 nNumPdsch[0]C) nNumPdcch[0]0 nNumPbch[0]C) nCSICount[0]0 nPDU[0]

[07-1900 10:49:27.650][ERROR]phy_gnb_bbupool_task_dI_config,[1 Cellldx[0]0 Subframe[3]0 SlotAdvldx[5]0 Ctx[1]00 TxFrameNumber[0]
'0 SlotNum[6]0 CurrSlotNum[5]°

[07-1900 10:49:27.650][DEBUG]Func:phy_gnb_bbupool_task_ul_config,[] Cellld[0]C Slot[3]C SlotAdvidx[3]0 Ctx[3]C nListRunning[0]
[07-1900 10:49:27.650][ERROR]Func:phy_gnb_bbupool_task_ul_config,d Cellldx[0]0 Subframe[3]0 SlotAdvIdx[3]0 iCtx[3]0 RxFrameNum[0]C SlotNum[4]0 Cu
rrSlotNum[3] 0 gMySfn[7]

[07-1900 10:49:27.650][FATAL]phy_bbupool_reset_cell_state,[] Reset[] pBbu->nCurrentSfldx--->>>[-1]

[07-1900 10:49:27.651][ERROR]ANT ambiguous subframe index™ 401 isO received atCl CurrentSfldx[-1],0 caller[1],00 TimeDiff[4]
[07-1900 10:49:27.651][FATAL]gnb_fh_thread,0 TimeLastUs[629]0 TimeDiff[1]0 Realslot[0]0) TimeOut_Cnt[1]

[07-1900 10:49:27.651][ERROR]Update] SfldxC) by CallerFlag[0]:C] CurrentSfldx[-1]0 -->0 Sfldx[0]

[07-1900 10:49:27.651][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[0],00 CellNum[1]

[07-1900 10:49:27.651][INFOU 1BBUO Pooling:0J enter[] multicelldJ Activate!

[07-1900 10:49:27.651][INFOU 1BBU Pooling:0 actived result:00 Q_id[0 =0 0,currenSfO =00 20480,0 curCellNumO =0 1,00 activesfn =
04,0 CellNumiInActSfnO =0 2

[07-1900 10:49:27.651][INFOL! 1BBUL Pooling:0 multiCelld Activate sucessfully!

[07-1900 10:49:27.651][ERROR]ANO ambiguous subframe index™ 501 isO received atCl CurrentSfldx[0],00 caller[1],0 TimeDiff[4]
[07-1900 10:49:27.651][FATAL]gnb_fh_thread,J TimeLastUs[626]0 TimeDiff[1]0 Realslot[1]0 TimeOut_Cnt[2]

[07-1900 10:49:27.651][ERROR]Update] Sfldx) by CallerFlag[0]:C] CurrentSfldx[0]C -->0 Sfldx[1]

[07-1900 10:49:27.651][DEBUG]Func:phy_bbupool_update_multi_cell_status,(] Sfldx[1],00 CellNum[1]
[07-1900 10:49:27.652][ERROR]An ambiguous] subframel] index(] 601 isC] received atl] CurrentSfldx[1],00 caller[1],00 TimeDiff[4]
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